TH6FEE

2 = A T o ET 3 41

MEIBEHEZOMTE

I$%ﬁﬂn

(H%0)

T HA LB ~SFMIETAIH
ITEES
T = # ZE

IEEE L=17.8m
BEYEHELT

E¥ELXT N=1z

BEYMERELT V=46m3
RE&T

& - R#ZEBT A=280m2

T8 - kYUY N=120%

PERET

E¥ELXT =1z

GRTTEERE T =20m3

AHLBFEEEMERERARD : Sf6E9A8




0-0001

1 2
1
1
2
1
3
1
3
1
2m 5m 4
, Co m(3 20
RC-40,t=1000 4
m2 4
RC-40 4
m3 4
\VAV) 150mm 4
m 6
3
1
4
1
2
1
3
1
3
1
4
m3 45
4
2
3
1
Co ( ) 4
m3 4 6




0002

0 -

< < | S S S S R S R A A R R R
<
© © o © N~
< ~ N = ©
—
— [o0] - o N ™ N ™
3 )
e
™
e
m
m
—~~
o
N -
e |- S
o« o«
RYONIESN N
o x| o X
™ oM Moo
| - - - - e
o X| ox E |E |E - - - e
.ol < .0l |oo |n |E |E |E o)
— ool ~ |~ oo . | . | . |loo |lo |1 o~
o< - o< (v |~ | . | . |.
" x N xld [ | (1O (1 |~ ©
— ) — |« |Ho o o o-do-do-doo |dH
o o o o o o o oo
o < o |o < o o M M ™ ;<
(@] I o |0 I I I I I I I T




0003

O_
1 2
3
4
4
4
4
-380x100x%x13x20
4
[ -150x75x%x6.5x10
H 4
H-700x300x13x24
H59 4 4
4
9 12mm
4
L-130x130x9
4
-150x75%x6.5x%x10
3
4
ccC 120t
4
ccC 120t
H-800x300x14x26 4
[ -300x90x%x9x%x13 4
9 12 4




0- 0004

1 2
4
m/2 280
4
m2 280
, 4
m 149
, 4
m 149
4
m3 20
: ( ) 4
DI D \ 0. 5km (0L 3km ) 1
4
1
4
50, 000ms3 1
: ( ) 4
DI D \ 0. 3km 1
9m 4
m|3 17
4
m2 20
3
1
, L=14m 4
11.2m 120
( ), L=11.2m 4
11.2m 23
, L=14m 4
11.2m 120
4
t 45
23 ,L=11.2m 4
1
3
1




0-0005

381

108

150t
22km
12m

80t

X L0

22

12m




0-0006




